BK S:t Erik
Plattliret 2018-02-03

Partavling, 26 bord, 52 par. Antal brickor: 57. Medel: 1424.8.

Plac Par Poang % Namn MID Klubb
1 49 1777.6 62.37 Johan Upmark - Geir Helgemo 24498 +3680 BK Lavec
2 45 1672.9 58.70 Fredrik Wahlberg - Markus Bertheau 20396 57666 BK S:tErik
3 24 1662.2 58.32 Mikael Rimstedt - Tobias Térngvist 88184 16484 Harplinge BK - BK Everfresh
4 8 1636.7 57.43 Peter Bertheau - Frederic Wrang 16757 8652 BK Bjorken - BK S:t Erik
5 1 1631.7 57.25 Anders Morath - PG Eliasson 4664 2827 BK S:t Erik - Norrorts Bridge
6 17 1620.7 56.87 Olle Wademark - Jan Selberg 14800 11074 Norrorts Bridge
7 33 1617.3 56.75 Ola Rimstedt - Tommy Bergdahl 88183 2181 Harplinge BK - Uppsalabridgen
8 37 1598.9 56.10 Tore Stormo - Leif Ruthstrom 78250 13060 BK S:tErik - Storsjébygdens BK
9 40 1582.1 55.51 Krister Ahlesved - Simon Hult 13995 36107 Uppsalabridgen - BK S:t Erik
10 41 1568.8 55.05 Mats Johansson - Robert Larsson 15014 15346 Uppsalabridgen
11 5 1562.6 54.83 Pierre Carbonnier - Tomas Ekholm 5538 81508 LUCK -BK S:t Erik
12 43 1554.8 54.55 Marten Gustawsson - Borje Primér 8699 2259 BK S:tErik
13 50 1543.8 54.17 Peder Skaj- Bengt Stahre 83430 2409 BKALERT
14 2 1516.6 53.21 Catharina Ahlesved - Maria Gronkvist 7124 1076 Orebridgen
15 9 1514.3 53.13 Per-Inge Helmertz - Bengt Hammar 1322 1238 Motala Bridgeallians - BK S:t Erik
15 31 1514.3 53.13 Borje Rudenstdl - Andreas Konyves 2336 4590 BK S:t Erik - Valdemarsviks BK
17 47 1508.4 52.93 Emanuel Unge - Simon Ekenberg 49509 41685 BK S:t Erik - Uppsalabridgen
18 15 1507.2 52.89 Tatyana Trendafilova - Jan Becklén 35574 20525 Malmé BK - BK Lavec
19 39 14952 52.46 Magnus Arve - Mats Felldin 40423 58833 BK S:t Erik
20 27 1493.7 52.41 Johan Séfsten - Per-Erik Malmstrom 35452 23472 Uppsalabridgen
21 18 1483.2 52.04 Per-Arne Karlsson - Anna Roos 1246 4289 Karlstads BK
22 38 1473.6 51.71 Kathrine Bertheau - Jessica Larsson 81089 17400 Filbyter Bridge
23 34 14733 51.70 Magnus Ekman - Hakan Lindblom 6926 1437 BK S:tErik
24 25 1472.7 51.67 Hans Vestergren - Peter Tornblom 33345 2265 BK S:tErik
25 51 1471.7 51.64 Yiva Strandberg - Gudrun Strandberg 9217 4143 BK S:tErik
26 14 1468.2 51.51 Bjorn Wenneberg - Goran Selldén 1912 4863 BK ALERT - BK Everfresh
27 46 1462.8 51.33 Daniel Gullberg - Johnny Ostberg 37167 2051 Uppsalabridgen - Gavle BK
28 48 1459.1 51.20 Kjell Holmgren - Roger Ahlbom 3368 11528 Bollnas BK
29 21 1439.7 50.52 Mikael Lindblom - Jan Andersson 5094 11704 BK S:t Erik
30 6 14339 50.31 Peter Carlsson - Tommy Strindfors 11594 818  BK Bjorken - BK S:t Erik
31 11 1396.8 49.01 Anna Zack Efraimsson - Bengt-Erik Efraimsson 4049 127 BK S:tErik
32 4 1382.3 48.50 Ann-Sophie Andersson - Joanna Tenggren 39116 39113 Rimbo BK
33 16 1365.8 47.92 Peter Flodgvist - Jan-Olof Hegethorn 14778 12033 BK S:t Erik
34 3 1360.7 47.74 Johan Nilsson - Fredrik Alfredsson 13918 83200 BK S:t Erik
35 28 1347.1 47.27 Torbjorn Gustavsson - Per Clarin 1255 10538 BK S:t Erik
36 35 1328.2 46.60 Joakim Ericson - Bo Ericson 26279 2962  Skutskars BK - Gavle BK
37 30 1325.7 46.52 Bjorn Sorling - Bo Roos 80438 13691 SkaraBS
38 22 1314.0 46.11 Jesper Rundin - Par Ol-Mars 80778 5342 Borlange BK - BK S:t Erik
39 42 1308.2 45.90 Micael Blomdahl - Roger Tornkvist 81988 7861 BK S:tErik - BK Tre Sang, Helsingborg
40 44 1302.2 45.69 Eva Gunnarsson - Tommy Gunnarsson 12598 10295 BK Falkenberg
41 12 1301.0 45.65 Leif Johansson - Lena Johansson 18448 15309 Ulricehamns BK
42 52 1297.3 4552 Vivianne As - Michael As 8617 11729 BK Tre Sang, Farsta
43 23 1289.2 45.24 Linnea Edlund - Margareta Mattsson 34773 13535 Uppsalabridgen
44 19 1275.8 44.76 Erik Gulliksson - Tommi Ramstedt 24169 51783 Gavle BK - Lindesbergs BS
45 36 1266.4 44.44 Elena Strom - Gunnar Géthberg 8220 14641 BK S:t Erik - Nora BK
46 13 1240.3 43.52 Leif Lysebring - Robert Frank 10391 25150 BK Opalen
47 32 1179.4 41.38 Patric Holmberg - Simon Bech 17031 87173 BK S:tErik
48 26 1166.3 40.92 Cristina Ringstrom - Per Gjellan 39288 54463 Norrorts Bridge
49 7 1151.3 40.40 Borje Brag - Eva Zarins 19633 36267 Partille/MdInlycke BK - BK S:t Erik
50 29 11414 40.05 Carina Nilsson - Vivi-Anne Hagstrom 9900 89622 Overums BK
51 10 1078.8 37.85 Per Carlson - Géran Hermanson 37799 37800 BK S:tErik
52 20 1053.8 36.98 Bo Janzon - Kalle Fyhr 64526 33110 BK S:tErik - Vanersborgs BS
1 4 D983 2 4 K87 3 48
Nord v EKn865 Ost v Kn87 Syd v Kn984
Ingen ¢ E83 NS + D854 ov + EKD986
«D #Kn32 #E5
454 « KKn1076 4Knl05 D6 4D1095 «E74
vK3 v D92 vK543 vED96 vE63 vD105
¢ K109654 ¢ 7 ¢E73 + 106 +53 +Kn74
#962 #EKn87 «D85 #EK1064 #KD86 #Kn1073
aE2 4 E9432 4« KKn632
v 1074 v 102 vK72
¢ DKn2 ¢ KKn92 +102
#K10543 297 £942
Par Kontr Ut Res Poang Par Kontr Ut Res Poéng Par Kontr ut Res Poéng
34 19 24DO-2 v4 300 50.0 0.0|12 41 2¢ O+3 *T -200 48.0 20(39 14 34DO-2 T 500 50.0 0.0
13 40 2v N+2  ¢7 170 440 6.0(27 26 3y O+2 *T -200 48.0 20| 6 47 3NN= s A 400 470 3.0
18 35 2y N+2 ¢4 170 440 6.0(39 14 2¢v O+3 v2 -200 480 20|46 7 3NN= 3 400 470 3.0
24 29 3v N+1 o7 170 440 6.0(42 11 INO+4 &2 -210 440 6.0(34 19 2v N+2 v5 170 440 6.0
25 28 2y N+2 2 170 440 6.0 3 50 4v O+1 4A -450 30.0 20.0(17 36 2v S+1 +v3 140 410 9.0
27 26 2v N+2 7 170 440 6.0(10 43 4v O+1 &9 -450 30.0 20.0(24 29 2v N+1 2 140 410 9.0
6 47 3v N= *7 140 33.0 17.0|13 40 4v V+1 &7 -450 30.0 20.0({51 2 3¢ N+1 #J 130 38.0 12.0
12 41 2v N+1 T 140 33.0 17.0(17 36 4v O+1 +9 -450 30.0 20.0(48 5 2NN= LN 120 36.0 14.0
15 38 2y N+1 7 140 33.0 17.0(18 35 4v O+1 +9 -450 30.0 200 4 49 3¢ N= LN 110 23.0 270
30 23 3v N= *7 140 33.0 17.0|24 29 4v V+1 ¢5 -450 30.0 20.0(10 43 3¢ N= &T 110 23.0 27.0
32 21 3v N= ¢4 140 33.0 17.0(30 23 4v O+1 49 -450 30.0 20.0 (12 41 2¢ N+1 &7 110 23.0 270
46 7 29y N+1 o7 140 33.0 17.0(31 22 4v O+1 49 -450 30.0 20.0(13 40 3¢ N= LN 110 23.0 270
44 9 2NN= *7 120 26.0 24.0|44 9 4v O+l &A -450 30.0 20.0(16 37 3¢ N= *4 110 23.0 27.0
3 50 2v N= *7 110 19.0 31.0(46 7 4v O+1 &9 -450 30.0 20.0(18 35 3¢ N= LN 110 23.0 270
10 43 2v N= *7 110 19.0 31.0(48 5 4v V+1l &7 -450 30.0 20.0(20 33 3¢ N= LN 110 23.0 270
17 36 2v S= 2 110 19.0 31.0|51 2 4vV+1l ¢4 -450 30.0 20.0({30 23 2¢ N+1 #J 110 23.0 27.0
39 14 2v N= *7 110 19.0 31.0|52 1 4vV+l &8 -450 30.0 20.0|31 22 2¢ N+1 v5 110 23.0 270
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45 8 2y N= +5 110 19.0 31.0 4 49 3NO+2 42 -460 9.0 41.0(42 11 3¢ N= &) 110 23.0 27.0
48 5 2y N= *7 110 19.0 31.0| 6 47 3NO+2 42 -460 9.0 41.0(45 8 3¢ N= *J 110 23.0 27.0
20 33 24 0-1 v4 50 120 38.0(15 38 3NO+2 &2 -460 9.0 41.0|52 1 2¢ N+1 ¢4 110 23.0 27.0
4 49 3vy N-1 +3 -50 50 45016 37 3NO+2 42 -460 9.0 41.0(15 38 INN= &3 90 10.0 40.0
16 37 3v N-1 *7 -50 5.0 45.0|20 33 3NO+2 44 -460 9.0 41.0(25 28 2v N-2 +Q -100 5.0 45.0
31 22 4vy N-1 *7 -50 50 45025 28 3NO+2 43 -460 9.0 41.0(27 26 3NN-2 &3 -100 5.0 45.0
42 11 3v N-1 *7 -50 50 45.0(34 19 3NO+2 3 -460 9.0 41.0(32 21 3¢ N-2 &7 -100 5.0 45.0
51 2 4y N-1 *7 -50 5.0 45.0|45 8 3NV+2 a5 -460 9.0 41.0(44 9 24 N-2 *7 -100 5.0 45.0
52 1 3vy N-1 *7 -50 50 45.0(32 21 3NO+3 44 -490 0.0 500 3 50 4v N-5 &J -250 0.0 50.0
4 49632 5 « EKD7 6 « EK104
Vast v 962 Nord v 753 Ost v K943
Alla + D8 NS ¢ K32 ov 493
K953 D92 £543
a K 4 ED1074 49843 4 Kn652 4 Kn83 452
v E53 vKD10 vD864 v92 v Kn6 vD7
4109765 ¢ Kn43 + 84 + ED10975 4 Kn1082 ¢ KD7654
&#EDKN8 #62 #Kn85 &K #DKn102 #E86
& Kn85 410 4 D976
v Kn874 v EKKn10 v E10852
¢ EK2 ¢ Kné ¢ E
21074 &#E107643 K97
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 51 3NO-1 v7 100 48.0 2.0(33 22 6NN= ¢A 1440 500 00| 1 3 4¢DO-3 &7 800 50.0 0.0
17 38 3NV-1 v6 100 48.0 2.0(14 41 3NN+4 T 720 46.0 4.0(45 10 44 S+2 *J 480 48.0 2.0
33 22 3NV-1 &3 100 480 2.0(21 34 3NN+4 T 720 46.0 4.0| 4 51 4v S+l L Jo) 450 32.0 18.0
16 39 24 0O= ¢ A 90 440 6.0|149 6 3NN+4 T 720 46.0 4.0| 5 50 4v S+1 L Jo) 450 32.0 18.0
1 3 3NV= v9 -600 40.0 10.0|26 29 3NN +3 *7 690 38.0 12.0| 7 48 4v N+1 K 450 32.0 18.0
11 44 3NO= *A -600 40.0 10.0(32 23 3NN +3 v9 690 38.0 12011 44 4v S+1 L Jo) 450 32.0 18.0
46 9 3NO= v3 -600 40.0 10.0(40 15 3NN +3 +Q 690 38.0 12.0|13 42 4v S+1 L Jo) 450 32.0 18.0
550 3NO+1 v7 -630 18.0 32.0|43 12 3NN+3 +Q 690 38.0 12.0|16 39 4v S+1 *J 450 32.0 18.0
7 48 3NO+1 ¢A -630 18.0 32.0(47 8 3NN+3 42 690 38.0 12.0|17 38 4v S+1 £Q 450 32.0 18.0
13 42 3NV +1 v2 -630 18.0 32.0( 5 50 3NN +2 v9 660 29.0 210|125 30 4v S+1 *2 450 32.0 18.0
14 41 3NO+1 v7 -630 18.0 32.0|17 38 3NN +2 +Q 660 29.0 21.0(28 27 4v S+1 *0Q 450 32.0 18.0
18 37 3NO+1 +v3 -630 18.0 32.0(28 27 3NN +2 +Q 660 29.0 21.0(31 24 4v S+1 L Jo) 450 32.0 18.0
19 36 3BNO+1 v7 -630 18.0 32.0(35 20 3NN+2 42 660 29.0 210|132 23 4v S+1 L Jo) 450 32.0 18.0
21 34 3NV +1 &5 -630 18.0 32.0| 4 51 3NN+1 *T 630 22.0 28.0|40 15 4v S+1 *Q 450 32.0 18.0
25 30 3NV +1 v6 -630 18.0 32.0(19 36 3NN +1 *A 630 22.0 28.0|43 12 4v S+1 L JO) 450 32.0 18.0
26 29 3NV +1 &3 -630 18.0 32.0(45 10 3NN +1 +5 630 22.0 280|146 9 4v S+l *J 450 32.0 18.0
28 27 3ANO+1 v7 -630 18.0 32.0(11 44 5# S+1 v6 620 17.0 33.0|49 6 4v S+1 *Q 450 32.0 18.0
31 24 3NV +1 v9 -630 18.0 32.0(46 9 54 N+1 ¢A 620 170 33.0|14 41 2vy N+3  ¢J 200 8.0 42.0
32 23 3NO+1 #4 -630 18.0 32.0|25 30 3NS= ¢ A 600 140 36.0|18 37 2v S+3 L Jo) 200 8.0 42.0
35 20 BNO+1  &T -630 18.0 32.0(|52 2 3v S= +8 140 120 38.0|19 36 34 N+2 ¢J 200 8.0 420
40 15 3NO+1 #3 -630 18.0 320| 1 3 44 S-= +8 130 10.0 40.0|21 34 3vy N+2 ¢2 200 8.0 42.0
43 12 3NO+1 v4 -630 18.0 32.0|13 42 5 S-1 +8 -100 6.0 44.0|126 29 3v S+2 +8 200 8.0 42.0
45 10 3NO+1 v5 -630 18.0 32.0|16 39 5# S-1 +8 -100 6.0 44.0|33 22 3v S+2 *J 200 8.0 420
47 8 3NV +1 &5 -630 18.0 32.0|31 24 5 S-1 +8 -100 6.0 44.0|35 20 3v S+2 *+ K 200 8.0 42.0
49 6 3NV+1 &2 -630 18.0 32.0|18 37 5#S-2 +6 -200 2.0 48.0(47 8 3v S+2 *J 200 8.0 42.0
52 2 3NV +1 v4 -630 18.0 32.0| 7 48 3NN-3 +9 -300 0.0 50.0(52 2 3v S+2 L JO) 200 8.0 42.0
7 & Kn432 8 108 9 & KDKn
Syd v 763 Vast v D10983 Nord v E9762
Alla + 104 Ingen + 96 ov ¢ 752
&Kn752 £D754 £K5
4 E75 « KD96 « KDKn6 #E954 4 E762 4943
vKn984 v52 v2 v Kn654 vyKn8 vD54
+Kn52 ¢ E863 4 EKDKn ¢ 103 + EK83 ¢ D10
&KD8 &E94 #E862 #K109 D42  #EKNn1096
108 4732 41085
v EKD10 v EK7 v K103
+ KD97 4 87542 + Kn964
#1063 &Kn3 873
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
50 7 44 V-2 v3 200 50.0 0.0|18 39 3NV +1 v9 -430 480 20| 6 51 INS-1 46 -50 50.0 0.0
5 1 2NO-1 vA 100 46.0 4.0(47 10 3NV +1 T -430 480 2.0(41 16 24 O= *3 -90 48.0 20
22 35 3NO-1 vA 100 46.0 4.0|48 9 3NV +1 T -430 48.0 20(20 37 2y N-2 43 -100 46.0 4.0
26 31 3NO-1 vA 100 460 40| 2 4 44 O+1 ©vA -450 36.0 140 2 4 340+1 3 -130 30.0 20.0
36 21 INS= v8 90 40.0 10.0| 6 51 44 V+1 +9 -450 36.0 14.0| 8 49 340+1 v4 -130 30.0 20.0
47 10 INS= v8 90 40.0 10.0( 8 49 4a4 V+1 +9 -450 36.0 14.0(12 45 24 0+2 3 -130 30.0 20.0
52 3 INS= v8 90 40.0 10.0 (12 45 4a4 V+1 &5 -450 36.0 14.0(14 43 34 0+1 3 -130 30.0 20.0
33 24 24 O= vA -90 36.0 14.0|15 42 44 V+1 +9 -450 36.0 14.0(18 39 34 0O0+1 3 -130 30.0 20.0
19 38 INS-1 v9 -100 32.0 18.0(26 31 44 V+1 48 -450 36.0 14.0(22 35 24 0+2 3 -130 30.0 20.0
34 23 INN-1 v8 -100 32.0 18.0[34 23 44 O+1 48 -450 36.0 14.0(26 31 3#0+1 v4 -130 30.0 20.0
44 13 INS-1 v8 -100 32.0 18.0(50 7 4a V+1 +9 -450 36.0 14.0(27 30 34 O+1 &2 -130 30.0 20.0
41 16 2v V= v3 -110 28.0 22.0(52 3 44 V+1 +9 -450 36.0 14.0(29 28 240 +2 3 -130 30.0 20.0
6 51 INO+1 ©vA -120 25.0 25.0 (14 43 4a V+2 v9 -480 170 33.0(33 24 3#0+1 K -130 30.0 20.0
15 42 2NV = v3 -120 25.0 25.0| 17 40 4e V+2 &2 -480 17.0 33.0(34 23 3#0+1 3 -130 30.0 20.0
46 11 1 O+2 vA -140 22.0 28.0|20 37 44 V+2 +9 -480 17.0 33.0(46 11 34 O+1 &3 -130 30.0 20.0
20 37 INV+2 &5 -150 18.0 32.0(22 35 44 V+2 +9 -480 17.0 33.0(47 10 34O +1 v2 -130 30.0 20.0
32 25 2NO+1 vA -150 18.0 32.0 (27 30 44 V+2 v9 -480 170 33.0(48 9 240+2 3 -130 30.0 20.0
48 9 INO+2 vA -150 18.0 32.0|29 28 44 V+2 &7 -480 170 33.0(50 7 3#0+1 ¥5 -130 30.0 20.0
2 4 INS-2 45 -200 9.0 41.0(32 25 44 V+2 vT -480 17.0 33.0(19 38 24 O+2 3 -170 140 36.0
8 49 INS-2 v8 -200 9.0 41.0(33 24 44 V+2 v9 -480 17.0 33.0(15 42 INO+3 3 -180 11.0 39.0
12 45 INS-2 v4 -200 9.0 41.0(36 21 44 V+2 +9 -480 17.0 33.0[44 13 INO+3 +3 -180 11.0 39.0
14 43 INS-2 v9 -200 9.0 41.0(41 16 4a V+2 +9 -480 17.0 33.0(17 40 3v N-4 a2 -200 8.0 42.0
17 40 INS-2 v8 -200 9.0 410 5 1 64 0= vA -980 3.0 47.0|52 3 2¢vyDN-2 43 -300 6.0 44.0
18 39 INS-2 v8 -200 9.0 41.0|19 38 64 V= v9 -980 3.0 470|136 21 3NO= +6 -600 40 46.0
27 30 14 S-3 &K -300 20 48.0|44 13 64 O= vK -980 30 470 5 1 3NO+1 +6 -630 1.0 49.0
29 28 2vS-4 &K -400 0.0 50.0(46 11 64 O= vA -980 3.0 47.0(32 25 3INO+1 +¥3 -630 1.0 49.0
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10 & 754 11 « E983 12 & Kn962
Ost v KD2 Syd v EKKn542 Vast v ED52
Alla + Kn1083 Ingen +6 NS + D6
&Kn82 103 »E86
&4 Knl062 «KD83 a7 & KDKn62 & K87 « ED1054
vE1076 v93 vD1086 v97 vK9864 vKn7
¢ E754 +9 ¢ 109752 83 ¢EKN5 ¢74
&#KD10653 K54 &D872 &K9 &D1073
«E9 #1054 43
v Kn854 v3 v103
¢+ KD62 + EKDKn4 + K109832
&E94 #EKN96 #Kn542
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
37 22 2v V-2 *J 200 50.0 0.0(27 32 3NN+3 &K 490 50.0 0.0(35 24 2¢DS+1 ¢5 380 50.0 0.0
15 44 INN+1 &K 120 47.0 3.0[30 29 3NS+2 &5 460 47.0 3.0(27 32 4v V-2 46 100 470 3.0
30 29 INS+1 46 120 47.0 3.0|33 26 3NN +2 &K 460 470 3.0(34 25 44 O-2 &A 100 47.0 3.0
49 10 34 O-1 +K 100 440 60| 6 2 4vy S+1 &K 450 40.0 10.0| 3 5 34V-1 +Q 50 39.0 11.0
23 36 2¢ S= 46 90 410 9.0|21 38 4y N+1 &K 450 40.0 10.0|23 36 34 O-1 v3 50 39.0 11.0
33 26 2¢ N= &K 90 41.0 9.0(23 36 4v N+1 &K 450 40.0 10.0(37 22 3NV-1 v2 50 39.0 11.0
9 50 24 O = *2 -90 38.0 12.0(37 22 4v S+1 &K 450 40.0 10.0|45 14 44 V-1 vT 50 39.0 11.0
6 2 INN-1 &K -100 36.0 14.0|45 14 4v N+1 &K 450 40.0 10.0|47 12 24 O-1 +9 50 39.0 11.0
3 5 260+2 4A -130 33.0 17.0|18 41 3NN+1 &K 430 30.0 20052 4 44 V-1 vA 50 39.0 11.0
27 32 3% 0+1 #4 -130 33.0 17.0|28 31 3NN+1 &K 430 30.0 20.0(28 31 24 O= vT -110 30.0 20.0
18 41 34 O= +Q -140 27.0 23.0|35 24 3NN+1 &K 430 30.0 20.0(42 17 24 O= vT -110 30.0 20.0
19 40 34 O= *+ K -140 27.0 23.0|47 12 3NN+1 &K 430 30.0 20.0(49 10 24 O= +9 -110 30.0 20.0
20 39 34 O= ¢+ K -140 27.0 23.0[49 10 3NN+1 &K 430 30.0 20.0(30 29 INV+1 &6 -120  26.0 24.0
21 38 24 O+1 ¢K -140 27.0 230| 7 1 4v N= &K 420 220 280 9 50 24 O+1 vT -140 19.0 31.0
13 46 24 O+2 ¢K -170  19.0 31.0|19 40 4v N= &K 420 22.0 28.0|13 46 24 O+1 %4 -140 19.0 31.0
35 24 24 O+2 K -170  19.0 31.0|51 8 4v N= &K 420 220 28.0(16 43 24 O+1 ¢3 -140 19.0 31.0
47 12 34 O+1 #A -170 19.0 31.0| 3 5 3NN= &K 400 13.0 37.0|21 38 2v V+1 46 -140 19.0 31.0
48 11 34 O+1 ¢K -170  19.0 31.0| 9 50 3NS= a7 400 13.0 37.0|48 11 24 O+1 T -140 19.0 31.0
16 43 24 O+3 +¢K -200 11.0 39.0|13 46 3NN= &K 400 13.0 37.0(51 8 24 O+1 ¢9 -140 19.0 31.0
42 17 24 O+3 aA -200 11.0 39.0|15 44 3NN= &K 400 13.0 370| 6 2 24 O+2 &6 -170 11.0 39.0
45 14 24 O+3 &A -200 11.0 39.0|16 43 3NN= 4Q 400 13.0 37.0(33 26 2v V+2 v2 -170 11.0 39.0
52 4 4¢ N-2 &K -200 11.0 39.0|48 11 3NN= &K 400 13.0 37.0|15 44 2NO+2 &2 -180 7.0 43.0
7 1 44 O= v4 -620 50 45020 39 4v N-1 &K -50 50 45.0(18 41 1INV +3 »6 -180 7.0 43.0
51 8 44 O= ¢+ K -620 50 450(52 4 4vy N-1 &K -50 50 45.0(20 39 2¢DS-1 a7 -200 4.0 46.0
28 31 44 O+1 ¢K -650 1.0 49.0(34 25 4v N-2 «Q -100 20 480| 7 1 3NV= a2 -400 1.0 49.0
34 25 44 O+1 ¢K -650 1.0 49.0|42 17 5¢ S-3 &7 -150 0.0 50.0|19 40 3NV= v5 -400 1.0 49.0
13 & EKKn2 14 « DKn 15 986432
Nord v EKn102 Ost v Kn962 Syd vE3
Alla +6 Ingen ¢ E8432 NS *4
&EK109 96 &E632
498765 &D3 #9654 & EK32 4EK75 «D
v 643 v D875 vD5 v103 v8752 vDKnl1l06
+ EKDKn105 ¢ Kn1097 ¢ K65 *73 ¢+ EKn1052
#3863 &4 D53 &EKN72 &#Kn95 &K107
«104 #1087 & Knl0
v K9 v EK874 v K94
¢ 8742 +D + KD986
&DKn752 &K1084 D84
Par Kontr Ut Res Poéng Par Kontr Ut Res Poang Par Kontr Ut Res Poang
17 44 6 N= ¢A 1370 470 30| 8 2 4v S= *J 420 48.0 2.0|20 41 24DN= 4Q 670 50.0 0.0
24 37 6% N= ¢A 1370 47.0 3.0|17 44 4vy N= s A 420 480 2.0|22 39 2¢DO-2 & 300 47.0 3.0
38 23 64 N= +5 1370 47.0 3.0(49 12 4v S= *J 420 48.0 2.0(24 37 3vyDV-2 +4 300 47.0 3.0
49 12 6% N= ¢A 1370 470 30| 7 3 3vS+1 a5 170 33.0 17.0(17 44 24 N= vQ 110 40.0 10.0
7 3 5&N+1 +K 620 340 16.0(14 47 3v S+1 *J 170 33.0 17.0(19 42 24 N= vQ 110 40.0 10.0
14 47 5& N +1 *A 620 34.0 16.0|16 45 3v S+1 *J 170 33.0 17.0|31 30 24 N= vQ 110 40.0 10.0
19 42 5& N +1 ¢A 620 34.0 16.0|19 42 3v S+1 &3 170 33.0 17.0(38 23 24 N= vQ 110 40.0 10.0
22 39 5& N+1 ¢A 620 340 16.0(24 37 3v S+1 *J 170 33.0 17.0(49 12 24 N= vQ 110 40.0 10.0
28 33 5& N +1 +K 620 34.0 16.0|28 33 2v S+2 *J 170 33.0 170 4 6 4v V-2 ¢4 100 31.0 19.0
29 32 5& N+1 ¢A 620 340 16.0|29 32 3v S+1 *J 170 33.0 170| 7 3 4v0O-2 e 100 31.0 19.0
31 30 5& N+1 &4 620 340 16.0(35 26 2v S+2 *J 170 33.0 170 8 2 3vV-2 *4 100 31.0 19.0
35 26 5& N +1 *A 620 34.0 16.0|36 25 2v S+2 +5 170 33.0 17.0|46 15 3v V-2 ¢4 100 31.0 19.0
50 11 5& N +1 +5 620 34.0 16.0|38 23 3v S+1 &3 170 33.0 17.0({10 51 3v V-1 *4 50 22.0 28.0
4 6 54 N-= ¢A 600 23.0 27.0(48 13 3v S+1 *J 170 33.0 17.0(14 47 3v V-1 v4 50 22.0 28.0
21 40 5& N= ¢ A 600 23.0 27.0|50 11 3v S+1 *J 170 33.0 17.0|21 40 3v V-1 ¢4 50 22.0 28.0
48 13 3% N +3 ¢A 170 190 3101 1 9 2y N+1 s A 140 20.0 30.0(28 33 3v V-1 *4 50 22.0 28.0
52 5 3& N+3 ¢A 170 19.0 31.0(20 41 2v S= &3 110 18.0 320|52 5 3v V-1 *4 50 22.0 28.0
10 51 44 N+1 *A 150 15.0 35.0|22 39 INO-1 v7 50 140 36.0|35 26 2NS-1 &5 -100 14.0 36.0
16 45 44 S+1 +9 150 150 35.0(31 30 INO-1 v4 50 14.0 36.0|43 18 24 N-1 vQ -100 14.0 36.0
34 27 24 N+1 ¢ A 140 12.0 38.0(46 15 34 O-1 +Q 50 14.0 36.0|48 13 34 N-1 vQ -100 14.0 36.0
1 9 6&N-1 ¢ A -100 8.0 420 4 6 INO= v3 -90 8.0 42.0|29 32 2v V+1 ¢4 -140 9.0 41.0
36 25 5& N-1 +K -100 8.0 42021 40 INV= v2 -90 8.0 42.0|50 11 3vO-= a5 -140 9.0 41.0
46 15 6% N-1 ¢ A -100 8.0 420|143 18 INO= v7 -90 80 420| 1 9 34 N-2 vQ -200 4.0 46.0
8 2 3NN-2 ¢ A -200 20 48.0(52 5 24 0= vK -110 40 46.0(16 45 34DN-1 ¢vQ -200 4.0 46.0
20 41 3NN-2 ¢A -200 20 48.0|10 51 34 V= v6 -140 1.0 49.0(34 27 34 N-2 vQ -200 4.0 46.0
43 18 3NS-2 +6 -200 20 48.0|34 27 24 O+1 &9 -140 1.0 49.0(36 25 4v V+1 LYy -450 0.0 50.0
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16 49 17 «D1096 18 « EK9
Vast v ED10853 Nord v D1075 Ost v 1076
oV + DKn Ingen ¢+ Kn1043 NS + K762
#K1086 &7 K107
aKKn2 «EI10 & K82 & EKN73 « D87 442
v Kn7 v K96 vyKKn86 vE4 v K32 v E54
¢ EK108 #5432 *+K + D6 +D10843 ¢ Kn9

D432  #E975 #EKKn52 #D10864 *E5 #DKn9432
4« D876543 454 # Kn10653
v42 v 932 v DKn98
4976 ¢ E98752 ¢ E5
&Kn #93 #86
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
18 45 3NO-5 v4 500 500 00| 9 3 6NV-1 *T 50 49.0 1.0|49 14 34DV-2 A 300 50.0 0.0
32 31 3NV-4 vA 400 480 20(15 48 6NO-1 v2 50 49.0 10| 2 10 24 S+2 *A 170 450 5.0
2 10 3NO-3 va 300 41.0 9.0|29 34 3NO= +5 400 460 40| 8 4 3a N+1 ¢J 170 450 5.0
29 34 3NV-3 v8 300 410 90| 5 7 540+1 v2 420 43.0 7.0(35 28 34 S+1 &A 170 450 5.0
44 19 3NV-3 v5 300 410 9.0(51 12 5#V+1 +J -420 43.0 7.0(47 16 24 S+2 *A 170 45,0 5.0
49 14 3NV-3 vA 300 41.0 9.0|49 14 44 O+1 +A -450 40.0 10.0(23 40 34 0-3 vQ 150 38.0 12.0
50 13 3NO-3 &6 300 41.0 9.0| 2 10 3NV +2 49 -460 36.0 14.0(39 24 34 0-3 a2 150 38.0 12.0
51 12 3NV-3 v5 300 410 9.0(35 28 3NO+2 5 -460 36.0 14.0(50 13 34 0O-3 vQ 150 38.0 12.0
17 46 3NO-2 v4 200 340 16.0(52 6 3NO+2 7 -460 36.0 140 9 3 24 S+1 &A 140 30.0 20.0
5 7 29y N-1 4 A -50 31.0 19.0|20 43 3NV +3 &7 -490 31.0 19.0(21 42 24 S+1 &A 140 30.0 20.0
36 27 2v N-1 *7 -50 31.0 19.0|39 24 3NV +3 +J -490 31.0 19.0(36 27 3v N= +J 140 30.0 20.0
35 28 34 0= &3 -110 270 23.0( 8 4 6a4V= *J 920 16.0 34.0(37 26 24 N+1  ¢J 140 30.0 20.0
47 16 3¢ V= 49 -110 270 23.0(11 1 6&V= &7 -920 16.0 34.0(44 19 34 S= *A 140 30.0 20.0
15 48 2¢ O+2 49 -130 24.0 26.0(17 46 6% O= ¢ A -920 16.0 34.0(17 46 2v N= +J 110 24.0 26.0
23 40 3¢ V+2 49 -150 22.0 28.0(18 45 64 0O = *A -920 16.0 340 5 7 INO-2 43 100 16.0 34.0
21 42 34DS-2 +A -300 18.0 32.0(21 42 640 = ¢ A 920 16.0 34.0(11 1 340-2 ¢ A 100 16.0 34.0
25 38 2vyDN-2 +3 -300 18.0 32.0(22 41 6% 0= ¢ A -920 16.0 34.0(18 45 34 0-2 vQ 100 16.0 34.0
30 33 24DS-2 +A -300 18.0 32.0(23 40 64 0= ¢ A -920 16.0 34.0(25 38 34 0-2 vJ] 100 16.0 34.0
22 41 34DS-3 +A -500 13.0 37.0(25 38 60O = ¢ A -920 16.0 34.0(30 33 34 0-2 vQ 100 16.0 34.0
37 26 3aDS-3 &2 -500 13.0 37.0(32 31 6% 0= ¢ A -920 16.0 34.0(32 31 3#0-2 vQ 100 16.0 34.0
8 4 3NV= v3 -600 9.0 41.0|36 27 6% O= 46 -920 16.0 34.0(51 12 34 0-2 vQ 100 16.0 34.0
20 43 3NV= 49 -600 9.0 41.0|37 26 64 O= ¢ A -920 16.0 34.0(15 48 34 0-1 ¢ A 50 6.0 44.0
39 24 3NV +1 vT -630 6.0 44.0|47 16 6% 0= ¢ A -920 16.0 34.0(22 41 340-1 aJ 50 6.0 44.0
9 3 4¢vyDN-4 4A -800 3.0 47.0|50 13 6 O= *A -920 16.0 34.0(52 6 2aV-1 4K 50 6.0 44.0
52 6 4vyDN-4 &A -800 3.0 47.0(44 19 6NO= &9 -990 2.0 48.0|20 43 34 S-1 *A -100 2.0 48.0
11 1 44DS-5 +A -1100 0.0 50.0(30 33 6¢DS-5 &K -1100 0.0 50.0[29 34 24 0O0+1 +8 -110 0.0 50.0
19 & Kn7 20 4109543 21 98
Syd v 875 Vast v 97 Nord v K8742
oV ¢ K109763 Alla ¢ 7652 NS + D1062
#83 K4 72
& EKD 210 «DKn72 #EKS8 4 DKn642 #4K75
vKKn932 vEDI10 vKn542 vE83 vE6 vKn1093
¢ EKn + D852 + D9 + K1043 +Kn973  +8
#1095 #EKD72 #1032 #EKn6 #83 #EKN1065
49865432 46 «E103
v64 vKD106 vD5
*4 ¢ EKn8 ¢ EK54
#Kn64 #D9875 +«KD94
Par Kontr Ut Res Poéng Par Kontr Ut Res Poang Par Kontr Ut Res Poang
45 20 5 O = +6 -600 500 00| 1 13 3aV-1 &K 100 41.0 9.0|19 46 34DV-4 +¢6 800 50.0 0.0
9 5 3NO+4 ¢4 -720 480 20(10 4 3NO-1 &8 100 41.0 9.0|21 44 3NS= a2 600 48.0 2.0
24 41 64 0O0+1 ¢4 -1390 45.0 5.0|18 47 3NO-1 &8 100 41.0 9.0|22 43 34DV-3 49 500 46.0 4.0
52 7 6#V+1l 49 -1390 450 5.0(21 44 3NO-1 &5 100 410 90| 6 8 34V-3 &7 150 440 6.0
40 25 6NO = aJ -1440 420 8.0(22 43 3NO-1 &7 100 41.0 90| 1 13 2v S= &8 110 38.0 12.0
12 2 6y O+1 ¢4 -1460 36.0 14.0(24 41 3NO-1 &5 100 41.0 9.0|36 29 2y S= a4 110 38.0 12.0
19 46 6v V+1 v7 -1460 36.0 14.0|26 39 4v V-1 oT 100 41.0 9.0|38 27 2v S= +Q 110 38.0 12.0
23 42 6y V+1 &) -1460 36.0 14.0(33 32 3NO-1 vK 100 41.0 9.0|40 25 2v N= a7 110 38.0 12.0
30 35 6y V+1 &8 -1460 36.0 14.0|37 28 3NO-1 46 100 41.0 9.0|45 20 2v N= +8 110 38.0 12.0
36 29 6y O+1 &) -1460 36.0 14.0(52 7 3NO-1 vQ 100 41.0 9.0|37 28 34 V-2 &7 100 31.0 19.0
1 13 6NV +1 aJ -1470 26.0 24.0|48 17 2# S-1 +J -100 30.0 20.0(48 17 3a V-2 &7 100 31.0 19.0
3 11 6NO+1 +4 -1470  26.0 24.0|19 46 2NO= &5 -120 26.0 24.0(26 39 34 V-1 &7 50 26.0 24.0
31 34 6NV +1 sJ -1470 26.0 24.0|38 27 2NO= &9 120 26.0 24.0(31 34 24 V-1 &7 50 26.0 24.0
33 32 6NV +1 v8 -1470 26.0 24.0|51 14 INO+1 &5 -120 26.0 24.0(33 32 24 V-1 &7 50 26.0 24.0
51 14 6NO+1 ¢4 -1470  26.0 24.0|12 2 INO+2 K -150 21.0 29.0( 3 11 2v S-1 a2 -100 19.0 31.0
10 4 7v V= v8 -2210 15.0 35.0(36 29 2NO+1 ¢K -150 21.0 29.0(10 4 3¢ N-1 vJ] -100 19.0 31.0
18 47 7v V= v8 -2210 150 350| 6 8 2NO+2 &3 -180 18.0 32.0(18 47 2NS-1 a2 -100 19.0 31.0
21 44 7v V= v3 -2210 15.0 35.0| 3 11 3NO= 46 -600 11.0 39.0(24 41 3¢ N-1 +8 -100 19.0 31.0
22 43 7v O= 42 -2210 15.0 350 9 5 3NO= vK -600 11.0 39.0(12 2 4y N-2 45 -200 11.0 39.0
26 39 7v V= v5 -2210 15.0 35.0|16 49 3NO= vK -600 11.0 39.0(30 35 3NS-2 a2 -200 11.0 39.0
37 28 7v V= v3 -2210 15.0 35.0|30 35 3NO= vK -600 11.0 39.0(50 15 4v N-2 +8 -200  11.0 39.0
6 8 TNV= v3 -2220 40 46.0|31 34 3NO= vK -600 11.0 39.0(51 14 3NS-2 +Q -200 11.0 39.0
16 49 7NV = aJ -2220 40 46.0(45 20 3NO= vK -600 11.0 39.0(23 42 2NS-3 a2 -300 5.0 45.0
38 27 INV= v8 -2220 4.0 46.0|23 42 3NO+1 K -630 20 48.0|52 7 3NS-3 a4 -300 5.0 45.0
48 17 TNV = v8 -2220 40 46.0(40 25 3NO+1 ¢K -630 20 480 9 5 3NDS-2 2 -500 1.0 49.0
50 15 7NV = &8 -2220 40 46.0|50 15 3NO+1 &8 -630 2.0 48.0|16 49 4¢DS-2 «Q -500 1.0 49.0
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4104 23 & K6 #1073
v ED987 Syd vE109 v D765
+ DKn8 Alla +D + EKn1095
«KD9 #DKn108732 &6
& Kn65 4 D9873 4 EDKNn852 4109 & K842 & DKn5
v Kn3 v 652 v 32 v KD85 vKn842 vE9
+ 105 7432 ¢ EKKn 4109532 *2 + 87
&#EKN6532 #10 »96 &K5 &#KKn107 #ED8542
« EK2 4743 « E96
v K104 v Kn764 v K103
+ EK96 + 8764 ¢+ KD643
&874 &E4 93
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
2 14 6NS= &A 990 490 10|25 42 3« N= v3 110 50.0 0.0({39 28 3¢DS= &T 470 50.0 0.0
52 8 6NS= *T 990 490 10| 1 15 4e V-1 &Q 100 28.0 22.0(38 29 3¢ S+1 &7 130 470 3.0
4 12 6y S= *T 980 46.0 40| 2 14 44 V-1 &Q 100 28.0 22.0(41 26 3¢ S+1 &7 130 470 3.0
1 15 4NN +2 +3 490 37.0 130 4 12 44 V-1 &Q 100 28.0 22.0(34 33 3¢ N= *2 110 440 6.0
22 45 3NS+3 &6 490 37.0 130(10 6 4e V-1 &K 100 28.0 22.0(17 50 54D O-1 +¢K 100 410 9.0
24 43 3NS+3 &5 490 37.0 13011 5 44 V-1 &Q 100 28.0 22.0|20 47 3NO-2 +K 100 410 9.0
27 40 3NS+3 &2 490 37.0 130(13 3 4e V-1 &Q 100 28.0 22.0|31 36 540-1 A 50 37.0 13.0
31 36 3NN+3 Y| 490 37.0 13.0(17 50 4e V-1 &Q 100 28.0 22.0|37 30 2NO-1 +Q 50 37.0 13.0
34 33 4NN +2 vlJ 490 37.0 13.0|20 47 44 V-1 +Q 100 28.0 220 7 9 4¢ S-1 &J -50 30.0 20.0
37 30 3NN +3 &3 490 37.0 13.0(22 45 44 V-1 &Q 100 28.0 220(11 5 4¢ S-1 &T -50 30.0 20.0
49 18 3N S +3 &2 490 37.0 13.0(24 43 44 V-1 &Q 100 28.0 22.0(23 44 4¢ S-1 &T -50 30.0 20.0
7 9 4v S+2 *T 480 27.0 23.0(27 40 44 V-1 &Q 100 28.0 22.0(32 35 4¢ N-1 4 Q -50 30.0 20.0
41 26 4v S+2 a5 480 27.0 23.0(31 36 34 V-1 +Q 100 28.0 22.0(49 18 4¢ S-1 LYy -50 30.0 20.0
10 6 5v N= &T 450 18.0 32.0|32 35 4e V-1 &Q 100 28.0 22.0|13 3 2NO= +K -120 24.0 26.0
11 5 4y N+1 &T 450 18.0 32.0(34 33 44 O-1 &Q 100 28.0 22.0(27 40 44 0= *+K -130 21.0 29.0
17 50 4v S+1 &T 450 18.0 32.0|37 30 4e V-1 &Q 100 28.0 22.0(51 16 4 O= +K -130 21.0 29.0
23 44 4y N+1 &T 450 18.0 32.0|38 29 4e V-1 &Q 100 28.0 22.0|46 21 24 O+1 &9 -140 18.0 32.0
25 42 4v S+1 *2 450 18.0 32.0|139 28 44 V-1 *Q 100 280 220| 2 14 340 +2 &3 -150 11.0 39.0
38 29 4v S+1 &A 450 18.0 32.0|41 26 4e V-1 &Q 100 28.0 220| 4 12 44 0+1 K -150 11.0 39.0
39 28 4v S+1 &A 450 18.0 32.0|46 21 4e V-1 &Q 100 280 220(10 6 3#0+2 K -150 11.0 39.0
13 3 6NS-1 &A -50 7.0 43.0|51 16 44 V-1 *Q 100 28.0 22.0(19 48 44 O+1 K -150 11.0 39.0
20 47 6v S-1 &A -50 70 43.0|52 8 44 V-1 &Q 100 28.0 22.0(25 42 440+1 +¢Q -150 11.0 39.0
46 21 6v N-1 &T -50 70 430 7 9 24 V= +Q -110 6.0 44052 8 4#0+1 +K -150 11.0 39.0
51 16 6v N-1 &T -50 7.0 43.0(19 48 34 V= *Q -140 20 480 1 15 540= ¢+ K -400 3.0 47.0
19 48 7NDS-1 #A -100 1.0 49.0(23 44 24 V+1 &Q -140 2.0 48.0|22 45 54 0= +K -400 3.0 47.0
32 35 6vyDS-1 &A -100 1.0 49.0(49 18 34 V= &Q -140 2.0 48.0|24 43 44 O= +K -420 0.0 50.0
25 & Kn9 26 « K85 27 & Kn76
Nord v K54 Ost v DKn987542 Syd vE75
ov + EKKn86 Alla + 10 Ingen + DKn86
&#KDKn &4 #1085
LY:] «ED104 & DKnl1062 #E43 & K83 & ED109542
v 862 v EKNn973 v- v EK3 vDKn96 v42
+D1072 54 ¢ Kn82 + K976 *74 +E10
#108653 #E2 &#EKKN98 %762 &#Kn932 #64
& K76532 «97 -
v D10 v 106 v K1083
493 ¢+ ED543 ¢ K9532
974 &#D1053 &EKD7
Kontr Ut Res Poéng Par Kontr Ut Res Poang Kontr Ut Res
11 7 34DS= 8 530 50.0 0.0({40 29 5¢DO-3 T 800 50.0 0.0 3 15 5¢DS= 43 550 490 1.0
18 51 3NN= &3 400 470 3.0| 3 15 44DV-1 T 200 470 3.0|28 41 5¢DS= vQ 550 490 1.0
21 48 3NN-= s A 400 470 30|11 7 44 V-2 *T 200 470 30| 1 17 5 S= &K 400 37.0 13.0
47 22 3v O-2 +9 200 440 6.0| 5 13 44 V-1 *T 100 430 7.0| 5 13 5¢ S= 43 400 37.0 13.0
12 6 24 N+1 +5 140 410 9.0|32 37 44 V-1 T 100 430 7.0| 8 10 5¢ S= a3 400 37.0 13.0
14 4 24 N+1 +5 140 410 9.0(47 22 4vyDN-2 vA -500 40.0 100|111 7 5¢ S= a3 400 37.0 13.0
35 34 2NN= v7 120 38.0 12.0( 8 10 3NO= vT -600 38.0 120|214 4 5¢ S= 43 400 37.0 13.0
1 17 24 N= +5 110 320 180 1 17 4a V= T -620 30.0 20.0|25 44 5¢ S= *2 400 37.0 13.0
23 46 3¢ N= +5 110 320 18.0(12 6 44 V= *T -620 30.0 20.0|33 36 5¢ S= a3 400 37.0 13.0
24 45 24 S= v2 110 32.0 18.0|21 48 44 V= &4 -620 30.0 20.0|35 34 5¢ S= a5 400 37.0 13.0
32 37 24 S= v2 110 320 18.0(25 44 44 O= *2 -620 30.0 20.0|38 31 5¢ S= a3 400 37.0 13.0
52 9 24 S= *2 110 32.0 18.0(28 41 44 V= *T -620 30.0 20.0(50 19 5¢ S= a3 400 37.0 13.0
2 16 3NN-1 v3 -50 20.0 30.0|38 31 44 V= *T -620 30.0 20.0(24 45 44D O -2 &A 300 25.0 25.0
8 10 44 N-1 +8 -50 20.0 30.0|39 30 44 O= vT -620 30.0 20.0|39 30 44D O-2 &A 300 25.0 25.0
25 44 2N N-1 *2 -50 20.0 30.0| 2 16 3NO+1 vT -630 20.0 30.0(20 49 4¢ S+1 a3 150 17.0 33.0
26 43 3NN-1 v3 -50 20.0 30.0|18 51 4NO= vT -630 20.0 30.0|21 48 54 O-3 &K 150 17.0 33.0
33 36 34 S-1 v2 -50 20.0 30.0|24 45 3NO+1 vT -630 20.0 30.0|32 37 4¢ S+1 &K 150 17.0 33.0
40 29 34 S-1 v3 -50 20.0 30.0(14 4 44 O+1 T -650 10.0 40.0|40 29 3¢ S+2 a3 150 17.0 33.0
50 19 3NN-1 v3 -50 20.0 30.0|20 49 44 V+1 &5 -650 10.0 40.0|42 27 4¢ S+1 43 150 17.0 33.0
3 15 3NN-2 v3 -100 8.0 42.0|26 43 44 O+1 45 -650 10.0 40.0 (47 22 4¢ S+1 vQ 150 17.0 33.0
28 41 44DS-1 ¢7 -100 8.0 42.0|33 36 44 O+1 T -650 10.0 40.0 (23 46 44 O-2 &A 100 8.0 42.0
38 31 44 N-2 vA -100 8.0 42.0(42 27 44 O+1 T -650 10.0 40.0(26 43 44 O-2 &A 100 8.0 42.0
39 30 44 S-2 vJ -100 80 42.0|50 19 44 O+1 vT -650 10.0 40.0(52 9 44 O-2 &K 100 8.0 42.0
42 27 44DS-1 v2 -100 8.0 42.0(52 9 4e V+1 vQ -650 10.0 40.0| 2 16 34 O-1 SA 50 4.0 46.0
20 49 3NN-3 s A -150 2.0 48.0|23 46 4vyDN-3 ©vA -800 20 48.0|18 51 6¢ S-1 48 -50 2.0 48.0
5 13 4e4DS-2 ¥2 -300 0.0 50.0|35 34 64 V= &9 -1430 0.0 50012 6 24DO= @&A -470 0.0 50.0
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28 & K9 29 «D 30 «D6
Vast v D8652 Nord v Knl1052 Ost v53
NS ¢ 9754 Alla ¢ 432 Ingen + K6
104 &#EDKN93 #KDKn7654
&4 Knl052 & D863 4 EKNn1064 4972 4 E82 & K975
vKn3 vE104 vD9 v E64 vKnl0874 v EKD6
41083 * K2 ¢ 65 + EKD109 + E84 ¢ Kn732
&#K975 &#DKn32 #10865 &K4 &92 &10
«E74 « K853 « Knl043
v K97 v K873 v92
+ EDKn6 ¢ Kn87 ¢+ D1095
&E86 »72 &E83
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
4 16 4v N= 46 620 480 2.0|29 42 44 V-2 &A 200 500 0.0 2 18 4v V-1 &K 50 450 5.0
9 11 4v N= Y| 620 480 20| 9 11 4e V-1 SA 100 46.0 40|13 7 4v V-1 &K 50 450 5.0
39 32 4v N= &3 620 48.0 2.0|39 32 44 O-1 &7 100 46.0 4.0|25 46 4v V-1 +Q 50 450 5.0
52 10 2v S+3 s 200 440 6.0|51 20 44 O-1 v7 100 46.0 4.0|36 35 4v V-1 &K 50 450 5.0
2 18 3y N+1 &Q 170 28.0 22.0(36 35 24 V= vlJ -110 42.0 80|40 31 4v0O-1 &K 50 450 5.0
12 8 2v S+2 e 170 28.0 22.0|40 31 34 V= vJ -140 37.0 13.0|51 20 4v V-1 &K 50 450 5.0
21 50 3v N+1 46 170 28.0 22.0(41 30 24 O+1 &7 -140 37.0 13.0| 6 14 44 N-1 vK -50 38.0 12.0
22 49 3v N+1 &Q 170 28.0 22.0(43 28 24 V+1 +3 -140 37.0 13.0| 9 11 3v V= &K -140 34.0 16.0
24 47 2v S+2 aJ 170 28.0 22.0|52 10 24 V+1 vJ -140 37.0 13.0|41 30 3v V= &K -140 34.0 16.0
25 46 3v N+1 46 170 28.0 220 2 18 24 O+2 &7 -170 27.0 23.0|52 10 3v V= &K -140 34.0 16.0
26 45 2v N+2 &Q 170 28.0 22.0(13 7 34 O+1 &7 -170  27.0 23.0| 3 17 3v V+1 &K -170  26.0 24.0
27 44 3v N+1 46 170 28.0 22.0|24 47 24 O+2 &7 -170  27.0 23.0(29 42 2v V +2 &K -170 26.0 24.0
29 42 2v N+2 &Q 170 28.0 22.0(27 44 34 V+1 &Q -170  27.0 23.0|34 37 3y O+1 &K -170  26.0 24.0
33 38 2v S+2 e 170 28.0 22.0(33 38 34 O+l &7 -170  27.0 23.0(39 32 3v V+1 &K -170  26.0 24.0
36 35 3v S+1 &6 170 28.0 22.0|34 37 24 O+2 &7 -170  27.0 23.0|48 23 3vy O+1 &A -170 26.0 24.0
40 31 3v N+1 a3 170 28.0 22.0(12 8 24 O+3 &7 -200 18.0 32.0(33 38 44DN-2 YA -300 20.0 30.0
41 30 2v S+2 e 170 28.0 22.0(22 49 24 O+3 7 -200 18.0 32.0| 4 16 4v O= v9 -420 12.0 38.0
43 28 2v N +2 &Q 170 28.0 22.0|26 45 24 O+3 ¢7 -200 18.0 32012 8 4v V= &K -420 12.0 38.0
51 20 2v S+2 &7 170 28.0 22.0(48 23 3v S-3 +5 -300 14.0 36.0|15 5 4v V= &K -420 12.0 38.0
13 7 2NS+1 e 150 12.0 38.0| 3 17 4e V= vlJ -620 80 420|19 1 4v V= &K -420 12.0 38.0
15 5 INS+1 a2 120 10.0 40.0| 4 16 4e V= v5 -620 8.0 42.0|22 49 4y V= &K -420 12.0 38.0
3 17 34 O-2 v7 100 7.0 43.0| 6 14 44 V= *2 -620 8.0 420|124 47 4y V= +6 -420 12.0 38.0
34 37 24DO-1 &T 100 7.0 43.0|19 1 44 0= &7 -620 8.0 42.0|26 45 4y V= &K -420 12.0 38.0
6 14 3NS-1 &7 -100 2.0 48.0(21 50 44 O= *7 -620 8.0 42.0(43 28 4v V+1 &Q -450 40 46.0
19 1 INS-1 a2 -100 2.0 48.0|25 46 44 V+1 +3 -650 2.0 48.0|21 50 54DN-3 YA -500 1.0 49.0
48 23 3NS-1 a5 -100 20 48.0|15 5 34DN-4 +A -1100 0.0 50.0|27 44 54DN-3 YA -500 1.0 49.0
31 «E98 32 « EKD1092 33 « ED109863
Syd v DKn53 Vast v EKn Nord v-
NS +9 oV ¢ E743 Ingen + Kn8654
&EKD98 &5 &Kn
aKnl0 &7 a7 & Kn86 & KKn 452
v10942 vEK6 v 1062 v 385 v94 v K108532
¢ KKn75 ¢ ED108432 ¢+ KKn1098 ¢ D6 ¢EK73 10
&Kn76  #43 &E862 #KDKn1094 &#E9874 #KD106
& KD65432 «543 a74
v 87 v KD9743 v EDKn76
+6 ¢ 52 + D92
#1052 &73 #532
Par Kontr Ut Res Poéng Par Kontr Ut Res Poang Par Kontr Ut Res Poang
37 36 44 S= ¢+ K 620 50.0 0.0 3 19 64 N= &K 980 50.0 0.0(41 32 5vDO-4 &7 800 50.0 0.0
16 6 66DO-3 &K 500 470 3.0|44 29 4y S+3 a7 510 470 3.0|16 6 4vDO-3 a7 500 480 2.0
52 11 6¢DO-3 &K 500 47.0 3.0(52 11 44 N+3 *+Q 510 470 3.0(37 36 44 N= &K 420 46.0 4.0
14 8 5¢DO-2 «K 300 410 90| 1 21 44 N+2 &K 480 28.0 22.0(42 31 4vDO-2 &7 300 440 6.0
23 50 5¢DV-2 ¥8 300 410 9.0| 4 18 44 N+2 &K 480 28.0 220| 5 17 5v 0 -4 a7 200 410 9.0
25 48 6¢DO-2 v7 300 41.0 9.0 5 17 44 N+2 &9 480 28.0 22.0(22 51 5v0-4 a7 200 41.0 9.0
41 32 5¢DO-2 &K 300 410 90| 7 15 44 N+2 &K 480 28.0 220| 4 18 4v O-2 «Q 100 37.0 13.0
44 29 34 S+1 +5 170 36.0 14.0(10 12 44 N+2 &K 480 28.0 22.0(52 11 54 0O-2 a7 100 37.0 13.0
4 18 5¢DO-1 4K 100 29.0 21.0|13 9 44 N+2 &K 480 28.0 220 7 15 3NV-1 +5 50 34.0 16.0
10 12 5¢ O-2 &2 100 29.0 21.0(14 8 44 N+2 &K 480 28.0 220 1 21 44 N-1 T -50 22.0 28.0
22 51 5¢DO-1 &K 100 29.0 21.0(16 6 44 N+2 &K 480 28.0 220 3 19 44 N-1 &J -50 22.0 28.0
40 33 5¢DO-1 &K 100 29.0 21.0|22 51 44 N+2 &K 480 28.0 22.0|10 12 34 N-1 &K -50 22.0 28.0
42 31 5¢ O-2 & K 100 29.0 21.0(25 48 44 N+2 *2 480 28.0 22.0(14 8 44 N-1 T -50 22.0 28.0
49 24 5¢DO-1 ¢8 100 29.0 21.0(27 46 44 N+2 &K 480 28.0 22.0(23 50 44 N-1 T -50 22.0 28.0
1 21 54 S-1 K -100 17.0 33.0|30 43 44 N+2 &Q 480 28.0 22.0|30 43 44 N-1 &Q -50 22.0 28.0
7 15 54 S-1 +5 -100 17.0 33.0|34 39 44 N+2 &A 480 28.0 22.0(34 39 44 N-1 *T -50 22.0 28.0
13 9 54 S-1 +5 -100 17.0 33.0|37 36 44 N+2 &K 480 28.0 22.0(35 38 44 N-1 T -50 22.0 28.0
27 46 54 S-1 *+K -100 17.0 33.0|40 33 44 N+2 &K 480 28.0 22.0|40 33 44 N-1 &Q -50 22.0 28.0
30 43 54 S-1 +K -100 17.0 33.0|42 31 44 N+2 &K 480 28.0 22.0(44 29 44 N-1 *T -50 22.0 28.0
35 38 54 S-1 +9 -100 17.0 33.0|49 24 56 N+1 &K 480 28.0 22.0(49 24 44 N-1 T -50 22.0 28.0
3 19 54DS-1 ¢7 -200 5.0 45.0(23 50 44 N= &K 420 8.0 420(20 2 44 N-2 &K -100 6.0 44.0
5 17 54DS-1 ¢K -200 50 45.0(28 45 44 N= &K 420 8.0 42.0|25 48 44 N-2 &K -100 6.0 44.0
20 2 54DN-1 vA -200 50 45.0(41 32 44 N= &K 420 80 42.0|26 47 44DN-1 T -100 6.0 44.0
26 47 54DS-1 7 -200 50 45.0(20 2 34 N+3 &K 230 2.0 48.0(27 46 44 N-2 &K -100 6.0 44.0
28 45 54DS-1 o7 -200 50 45.0|26 47 34 N+3 &K 230 2.0 48.0|28 45 44 N-2 T -100 6.0 44.0
34 39 54DN-1 ¢2 -200 50 45.0|35 38 34 N+3 &A 230 20 48.0|13 9 44DN-2 T -300 0.0 50.0
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34 4953 35 « D7 36 « D63
Ost v EKn654 Syd v E1087 Vast v 10652
NS ¢+ KD7 ov + D1082 Alla 4862
&53 D96 «Kn107
« D84 & Knl107 462 484 & 754 «E8
v 82 v D93 v K95 v DKn643 v EK8 v DKn9
4963 ¢ 8542 ¢+ E9753 ¢ K6 ¢ KKn54 ¢ D1097
#EKD42 #976 &#Kn73 #E1052 &332 K965
« EK62 & EKKN10953 & KKn1092
v K107 v2 v 743
¢+ EKn10 ¢+ Kn4 ¢E3
#Kn108 »K84 &ED4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
2 22 4v S= &A 620 38.0 120 5 19 44 S= 46 420 38.0 12.0(11 13 2NO-3 oT 300 490 1.0
4 20 4v S= &A 620 38.0 12.0| 6 18 44 S= &3 420 38.0 12.0(14 10 2NO-3 T 300 490 1.0
11 13 4v S= &K 620 38.0 12.0| 8 16 44 N= 46 420 38.0 120| 4 20 3¢ O-2 v3 200 430 7.0
14 10 49y N= &6 620 38.0 12.0(11 13 44 S= A 420 38.0 12.0(27 48 3NO-2 &K 200 430 7.0
17 7 4y N= &9 620 38.0 12.0(14 10 4« S= &6 420 38.0 12.0(31 44 3NO-2 e 200 430 7.0
23 1 4v N= &6 620 38.0 12.0|17 7 44 S= &3 420 38.0 12.0(43 32 3NV-2 v2 200 430 7.0
27 48 4v S= &A 620 38.0 12.0(23 1 44 S= v5 420 38.0 12.0( 8 16 24 S+1 vA 140 38.0 12.0
31 44 4y N= &7 620 38.0 12.0(31 44 44 S= v5 420 380 120 5 19 3¢ V-1 a3 100 27.0 23.0
35 40 4v N= &6 620 38.0 12.0(36 39 44 S= 43 420 380 12.0(15 9 3¢ O0-1 v3 100 27.0 23.0
38 37 4v S= &A 620 38.0 12.0(41 34 44 S= v5 420 38.0 12.0(17 7 3¢ V-1 a2 100 27.0 23.0
42 33 4v N= a7 620 38.0 12.0(42 33 44 S= v5 420 380 12021 3 3¢ V-1 a2 100 27.0 23.0
50 25 4v N= &5 620 38.0 12.0(45 30 44 S= v5 420 380 120(23 1 2NO-1 T 100 27.0 23.0
52 12 4v S= &A 620 38.0 12.0(50 25 44 S= A 420 38.0 12.0(24 51 2NO-1 oT 100 27.0 23.0
5 19 3NS-1 &K -100 13.0 37.0|38 37 3NN= v3 400 23.0 27.0(26 49 3¢ O-1 v3 100 27.0 23.0
6 18 3NS-1 &A -100 13.0 37.0|43 32 3NN= v5 400 23.0 27.0(45 30 3¢ V-1 43 100 27.0 23.0
8 16 4v S-1 &A -100 13.0 370|121 3 3vyDO-1 &A 200 20.0 30.0(50 25 3¢ O-1 v3 100 27.0 23.0
15 9 3NS-1 &A -100 13.0 37.0|28 47 24 S+2 v5 170 17.0 33.0|52 12 2NO-1 T 100 27.0 23.0
21 3 4vy N-1 s -100 13.0 37.0|35 40 24 S+2 &3 170 17.0 33.0| 2 22 INO= T -90 10.0 40.0
24 51 3NS-1 &K -100 130 37.0|15 9 24 S+1 &2 140 13.0 37.0| 6 18 INO= &K -90 10.0 40.0
26 49 4v S-1 &A -100 13.0 37.0|26 49 24 S+1 v5 140 13.0 37.0|28 47 INO= T -90 10.0 40.0
28 47 3NS-1 &K -100 13.0 37.0| 2 22 44 S-1 a2 -50 50 45029 46 INO= a2 -90 10.0 40.0
36 39 3NS-1 &A -100 13.0 37.0| 4 20 44 S-1 v5 -50 5.0 45035 40 INO= v7 -90 10.0 40.0
41 34 3NS-1 &A -100 13.0 37.0|24 51 3NN-1 v2 -50 5.0 45.0|38 37 INO= e -90 10.0 40.0
43 32 3NS-1 &A -100 13.0 37.0|27 48 3NN-1 vQ -50 50 45041 34 INO= T -90 10.0 40.0
45 30 3NS-1 &Q -100 13.0 37.0|29 46 44 S-1 v5 -50 50 45.0(42 33 INO+1 v4 -120 2.0 48.0
29 46 3NS-2 &K -200 0.0 50.0|52 12 44 S-1 v5 -50 50 45.0(36 39 34DS-1 46 -200 0.0 50.0
37 « ED862 38 4 E102 39 4974
Nord vE764 Ost vE43 Syd v EK42
NS ¢E4 oV ¢ KKn93 Alla ¢ 10952
sK2 &EK7 »K6
4 KKn107 «95 «D 49543 41086 & KDKn52
v Kn32 v KD1098 v 976 v Kn52 vKnl103 +98
+ 9765 + K8 + ED1086 ¢ 75 ¢ KKn743 ¢ E6
&D7 #9865 #10985 &DKn42 #43 10975
&43 & KKn876 «E3
v5 v KD108 v D765
¢+ DKn1032 ¢ 42 + D8
&#EKNn1043 &63 #EDKnN82
Par Kontr Ut Res Poéng Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 19 3NS+3 +6 690 480 20| 3 23 6y S= ¢A 980 50.0 0.0 3 23 4v S+1 &4 650 33.0 17.0
15 11 3N S+3 &Q 690 480 20| 7 19 3NN+3 7 490 410 90| 5 21 4vy N+1 &K 650 33.0 17.0
16 10 3NS+3 +6 690 480 2.0|15 11 3NN+3 7 490 410 9.0|12 14 4y N+1 &K 650 33.0 17.0
22 4 3NS+2 v2 660 420 8.0|18 8 3NN+3 &2 490 410 9.0|15 11 4v N+1 a5 650 33.0 17.0
27 50 3NS+2 +6 660 420 8024 2 3NN+3 &Q 490 410 9.0|16 10 4y S+1 v3 650 33.0 17.0
46 31 3NS+2 &Q 660 420 80|25 1 3NN+3 7 490 410 90|22 4 4y S+1 46 650 33.0 17.0
30 47 3NN +1 vQ 630 38.0 12.0(30 47 3NN+3 &5 490 410 90|24 2 4v S+1 46 650 33.0 17.0
3 23 2vDO-2 44 300 36.0 14.0(37 40 3NN+3 &2 490 410 90|25 1 4v S+l &4 650 33.0 17.0
37 40 1le N+1 vK 110 320 18.0(44 33 3NN+3 7 490 410 9.0|27 50 4y S+1 46 650 33.0 17.0
39 38 24 N= 49 110 320 18.0( 5 21 44 S+2 &8 480 16.0 34.0|28 49 4y S+1 46 650 33.0 17.0
42 35 24 N= 49 110 320 18.0( 6 20 44 S+2 &T 480 16.0 34.0|32 45 4v S+1 +3 650 33.0 17.0
28 49 2v O-2 a4 100 28.0 22.0( 9 17 44 S+2 &T 480 16.0 34.0|39 38 4v N+1 &K 650 33.0 17.0
6 20 3NS-1 vJ -100 21.0 29.0|12 14 44 N+2 &4 480 16.0 34.0|42 35 4v N+1 & K 650 33.0 17.0
24 2 3NS-1 vJ -100 21.0 29.0|16 10 4e S+2 &T 480 16.0 34.0|43 34 4v S+1 v3 650 33.0 17.0
36 41 44 N-1 vK -100 21.0 29.0|22 4 44 S+2 &T 480 16.0 34.0|44 33 4v S+1 46 650 33.0 17.0
43 34 3NN-1 vQ -100 21.0 29.0|27 50 44 N +2 LY 480 16.0 34.0|46 31 4y S+1 v3 650 33.0 17.0
44 33 3NN-1 vQ -100 21.0 29.0|28 49 4e S+2 &T 480 16.0 34.0|51 26 4v S+1 *4 650 33.0 17.0
52 13 3NN-1 vK -100 21.0 29.0|29 48 44 S+2 &T 480 16.0 34.0|52 13 4v S+1 46 650 33.0 17.0
5 21 3NN-2 vQ -200 12.0 38.0|32 45 44 S+2 &4 480 16.0 340| 7 19 3NS+1 46 630 13.0 37.0
9 17 3NS-2 *7 -200 12.0 38.0|36 41 44 S+2 ¢A 480 16.0 34.0|36 41 3NS+1 vJ 630 13.0 37.0
12 14 5¢ S-2 v2 -200 12.0 38.0|39 38 44 S+2 &T 480 16.0 34.0| 6 20 4v S= +3 620 10.0 40.0
25 1 3NN-3 vQ -300 6.0 44.0|42 35 44 S+2 v6 480 16.0 34.0| 9 17 34DO-2 ¥5 500 8.0 42.0
29 48 44 N-3 vK -300 6.0 44.0|43 34 44 S+2 v5 480 16.0 340|18 8 3v S+2 vJ 200 3.0 47.0
51 26 3NN-3 vK -300 6.0 44.0|46 31 44 N+2 &8 480 16.0 34.0|29 48 3v N+2 &K 200 3.0 47.0
18 8 3NS-4 v3 -400 1.0 49.0(51 26 44 S+2 &T 480 16.0 34.0|30 47 24DO-1 +¢Q 200 3.0 47.0
32 45 3NN-4 vQ -400 1.0 49.0(52 13 44 S+2 &T 480 16.0 34.0|37 40 3y S+2 46 200 3.0 47.0
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40 & Kn543 41 «D 42 & D42
Vast v7 Nord v 843 Ost v EKNn72
Ingen + E10942 oV + EKn875 Alla ¢ EKn3
D86 D863 873
«KD762 «E108 4E1095 4 KKn42 4Kn63 4987
v43 v EDKn6 vED1092 vKn65 v K65 v 83
¢ K73 +6 ¢ 62 + K104 41084 ¢ D652
&#K93 &#EKNn1074 &Kn4 »K92 &#EK102 #Kn965
49 48763 & EK105
v K109852 v K7 vD1094
+ DKn85 + D93 ¢ K97
&52 &#E1075 &D4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
1 27 64 V-3 v7 150 490 10|33 46 3#DS= &4 470 50.0 0.0(31 48 3NS+3 &A 690 50.0 0.0
6 22 64 0O -3 +Q 150 490 10|45 34 34S-1 s A -50 48.0 20| 1 27 3NS+2 SA 660 450 5.0
29 50 64 V-2 v7 100 440 6.0|19 9 2¢DN-1 ¥5 -100 46.0 40|13 15 3NS+2 *4 660 450 5.0
31 48 64 V-2 ¢A 100 440 6.0|10 18 24 V= v4 -110 440 6.0|19 9 3NS+2 T 660 450 5.0
44 35 64 V-2 v7 100 440 6.0(37 42 3v V= «Q -140 42.0 80|33 46 3NS+2 v5 660 450 5.0
17 11 54 V-1 v3 50 36.0 140 7 21 34 O+1 +3 -170 32.0 180 4 24 4v S+1 SA 650 26.0 24.0
30 49 4e V-1 v2 50 36.0 140| 8 20 24 O+2 43 -170  32.0 180| 6 22 4vy N+1 &A 650 26.0 24.0
33 46 4e V-1 v7 50 36.0 140(25 3 2v O+2 &3 -170  32.0 180 7 21 4v S+1 SA 650 26.0 24.0
40 39 44 V-1 v3 50 36.0 140(26 2 3v V+1 «Q -170  32.0 18.0|10 18 4v S+1 SA 650 26.0 24.0
43 36 44 V-1 v8 50 36.0 14.0(29 50 14 O+3 +3 -170 32.0 18.0|16 12 4v S+1 &A 650 26.0 24.0
10 18 2vDS-1 3 -100 30.0 20.0|31 48 24 O+2 &3 -170  32.0 18.0|23 5 4vy N+1 a7 650 26.0 24.0
8 20 3O+ 49 -170 28.0 22.0|38 41 3v V+1 «Q -170  32.0 18026 2 4y N+1 &6 650 26.0 24.0
7 21 46 V= v7 -420 21.0 29.0|40 39 3v V+1 «Q -170 32.0 18.0|28 51 4v S+1 &A 650 26.0 24.0
23 5 4e V= v7 -420 21.0 29.0|44 35 3v V+1 «Q -170  32.0 18.0|30 49 4v S+1 SA 650 26.0 24.0
26 2 46 V= v7 -420 21.0 29.0| 4 24 34 V+2 &6 -200 18.0 32.0|37 42 4vy N+1 rY:] 650 26.0 24.0
38 41 4e V= v7 -420 21.0 290| 6 22 3v V+2 «Q -200 18.0 32.0|38 41 4v N+1 v8 650 26.0 24.0
47 32 44 V= v7 -420 21.0 29.0|16 12 24 V +3 &6 -200 18.0 32.0|40 39 4v N+1 v8 650 26.0 24.0
52 14 46 V= v7 -420 21.0 29.0|30 49 3v V+2 «Q -200 18.0 32.0|44 35 4v S+1 SA 650 26.0 24.0
4 24 4e V+1 v7 -450 9.0 41.0|47 32 24 V+3 &6 -200 18.0 32.0|45 34 4v N+1 LY:] 650 26.0 24.0
13 15 44 V+1 v7 -450 9.0 41.0|13 15 54D S-2 4A -300 12.0 38.0|52 14 4v S+1 SA 650 26.0 24.0
16 12 44 V+1 v7 -450 9.0 41.0|28 51 44 O= 43 -620 9.0 41043 36 3NS+1 &2 630 10.0 40.0
19 9 44 V+1 e -450 9.0 41.0|43 36 44 O= LY -620 9.0 410| 8 20 3NS= &A 600 6.0 44.0
37 42 46 V +1 A -450 9.0 41.0| 1 27 44 O+1 #A -650 40 46.0|17 11 3NS= SA 600 6.0 44.0
45 34 4e V +1 v8 -450 9.0 41.0(23 5 4v V+1 «Q -650 40 46.0|47 32 3NN= v8 600 6.0 44.0
25 3 46 O+2 *J -480 20 48.0|52 14 44 O+1 3 -650 40 46.0|25 3 2vy N+3 *2 200 2.0 48.0
28 51 4vDS-4 &K -800 0.0 50.0|17 11 5¢DN-5 &6 -1100 0.0 50.0{29 50 4v N-1 a7 -100 0.0 50.0
43 & KDKn973 44 & Kn83 45 « EKn984
Syd vKn762 Vast v 10974 Nord v K1093
Ingen + 103 NS +K Alla + Kn9
&D &#Kn10743 32
4102 « E8654 4 K107 &ED5 41062 &3
v D84 v K3 vEK86 v DKn53 v D42 v Kn875
+K4 + D987 + D9 ¢ EKn74 +85 + EKD643

#KKn6532 #94 #ED98 #K6 &#EK765 #DKn

@- 9642 4 KD75

v E1095 v2 vEG6

¢ EKn652 + 1086532 + 1072

&E1087 &52 #10984
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 22 4v S+1 aT 450 500 00| 8 22 7v V-1 v4 50 50.0 00|24 6 3aDN= +A 730 49.0
39 42 3NS= v4 400 470 3.0| 5 25 6vO= +3 -980 46.0 4.0(41 40 3aDN= +A 730 49.0
45 36 3NS= oT 400 470 3.0(18 12 6y O= +3 -980 46.0 4.0(11 19 4v O-3 & K 300 45.0
14 16 2N S+2 &6 180 440 6.0|20 10 6v O= v2 -980 46.0 40|27 3 3NO-3 & K 300 45.0
41 40 2N S +1 v4 150 420 8.0(14 16 6NO= +3 990 35.0 15.0|44 37 44 V-2 s A 200 42.0
9 21 24 N+1 &9 140 38.0 12.0(26 4 6NV= &J -990 35.0 15.0| 7 23 34 N= +K 140 320 1
31 50 24 N+1 &9 140 38.0 12.0(31 50 6NV = a3 990 35.0 150| 8 22 34 S= &A 140 320 1
46 35 24 N+1 vK 140 38.0 12.0(34 47 6NO= &J -990 35.0 15.0(14 16 34 N= *A 140 320 1
18 12 2NS= v3 120 340 16.0(39 42 6NV = &J 990 35.0 15.0|17 13 34 S= +8 140 320 1
2 28 24 N= vK 110 240 26.0(41 40 6NV= &J 990 35.0 15.0(18 12 34 S= v3 140 320 1
7 23 24 N= &9 110 24.0 26.0|45 36 6NO= +3 -990 35.0 15.0[20 10 24 N+1 *A 140 320 1
11 19 24 N= &9 110 240 26.0(48 33 6NV= vT -990 35.0 15.0|30 51 34 S= SA 140 320 1
24 6 3¢ S= v2 110 240 260 2 28 6v O+1 3 -1010 26.0 24.0(39 42 34 N= &A 140 320 1
30 51 24 N= &9 110 24.0 26.0| 7 23 6NO+1 +¢5 -1020 17.0 33.0|48 33 34 N= *A 140 320 1
34 47 24 N= +8 110 240 26.0( 9 21 6NV +1 &3 -1020 17.0 33.0|46 35 4¢ O-1 &K 100 220 2
38 43 24 N= vK 110 24.0 260|24 6 6NV +1 &3 -1020 17.0 33.0( 5 25 INV= LY -90 190 3
44 37 24 N= &8 110 240 26.0(29 1 6NV +1 &7 -1020 17.0 33.0|29 1 INV= LY -90 19.0 3
52 15 24 N= &9 110 240 26.0(30 51 6NO+1 3 -1020 17.0 33.0| 9 21 3¢ O= a5 -110 13.0 3
5 25 34 N-1 &9 -50 10.0 40.0(32 49 6NO+1 +6 -1020 17.0 33.0(32 49 2¢ O+1 ¢2 -110 130 3
17 13 24 N-1 vK -50 10.0 40.0(38 43 6NV +1 K -1020 17.0 33.0|34 47 3¢ O= &K -110 13.0 3
27 3 4y N-1 46 -50 10.0 40.0 |44 37 6NV +1 &3 -1020 17.0 33.0|45 36 3¢ O= &K -110 13.0 3
29 1 3vyN-1 aT -50 10.0 40.0(17 13 7v O= +6 -1510 6.0 44.0|52 15 INV +1 LY -120 80 4
32 49 24 N-1 &9 -50 10.0 40027 3 7v V= &2 -1510 6.0 440| 2 28 2¢ O+2 &K -130 40 4
26 4 34 N-2 &9 -100 3.0 47.0|46 35 7v O= +6 -1510 6.0 44.0(26 4 3¢ O+1 &T -130 40 4
48 33 4v S-2 a7 -100 3.0 47.0|11 19 7NV= &J -1520 1.0 49.0(31 50 3¢ O+1 &K -130 40 4
20 10 3NS-4 v3 -200 0.0 50.0(52 15 7NO= +8 -1520 1.0 49.0|38 43 3v V= s A -140 0.0 5
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46 «10 a7 # Kn85 48 4653

Ost v D10654 Syd v K109875 Vast v D832
Ingen + 108 NS + E1096 ov ¢ Kn105
#K9763 »- &E93
& EKN9542 & K763 41043 4 E9762 sE4 482
vE v 87 v 643 v EDKn v EKKn4 v 107
¢ D6542 + K973 7 + 84 ¢+ K3 + ED8742
&4 D105 #KKn10753 #D42 &#DKn1087 #K52
«D8 «KD « KDKn1097
v KKn932 v2 v 965
¢ EKn ¢ KDKn532 + 96
&EKN82 #E986 64

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang

6 26 4v N+1 &3 450 490 10|18 14 5¢DS+1 &T 950 46.0 4.0|18 14 4NV-1 vK 100 480 2.0
12 20 4y S+1 49 450 490 10|19 13 5¢DS+1 3 950 46.0 4.0|19 13 4NV-1 a3 100 480 2.0

3 29 54 N-1 v8 50 46.0 4.0(31 1 5¢DS+1 #J 950 46.0 4.0|39 44 3NV-1 43 100 480 2.0
21 11 5vDS-1 &A -100 43.0 7.0|142 41 5¢DS+1 &T 950 46.0 40| 6 26 34 S-2 &Q -100 430 7.0
28 4 6vDS-1 &A -100 43.0 7.0(52 16 5¢DS+1 43 950 46.0 4.0(25 7 34S-2 *2 -100 430 7.0
45 38 34 V+2 v5 -200 40.0 10.0|15 17 64D O -4 &A 800 40.0 10.0|12 20 4¢ O= &K -130 40.0 10.0
30 2 5vDS-2 &A 300 36.0 14.0|12 20 5¢DS= T 750 36.0 14.0(46 37 4¢ O+1 &K -150 38.0 12.0
33 50 54DS-2 YA -300 36.0 14.0|40 43 5¢DS= ¢3 750 36.0 14.0(32 51 44DS-3 +¢K -500 34.0 16.0
42 41 5vDS-2 +¢2 -:300 36.0 14.0|47 36 5¢DS= &5 750 36.0 14.0(47 36 34DS-3 +¢K -500 34.0 16.0
25 7 4e V= &6 -420 32.0 180| 6 26 5¢ S+1 a3 620 27.0 23.0(49 34 44DS-3 ©vA -500 34.0 16.0

8 24 4e V+1 v4 -450 21.0 29.0| 8 24 5¢ S+1 T 620 27.0 230 9 23 3NO= &K -600 20.0 30.0

9 23 56 V= &6 -450 21.0 29.0|21 11 5¢ S+1 &T 620 27.0 23.0(21 11 5¢ O= &K -600 20.0 30.0
10 22 44 V+1 T -450 21.0 29.0|27 5 5¢ S+1 a3 620 27.0 23.0(27 5 3NV= a3 -600 20.0 30.0
18 14 54 V= v3 -450 21.0 29.0|33 50 5¢ S+1 a3 620 27.0 23.0(28 4 3NV= a3 -600 20.0 30.0
19 13 44 V+1 v4 -450 21.0 29.0|35 48 5¢ S+1 oT 620 27.0 23030 2 3NV= 43 -600 20.0 30.0
31 1 4e V+1 v4 -450 21.0 29.0| 9 23 5¢ N= a7 600 17.0 33031 1 3NV= a3 -600 20.0 30.0
39 44 44 V+1 v3 -450 21.0 29.0|28 4 5¢ S= a3 600 17.0 33.0|33 50 5& V= a3 -600 20.0 30.0
46 37 44 O+1 v2 -450 21.0 29.0|32 51 5¢ S= v3 600 17.0 33.0(35 48 3NV= 43 -600 20.0 30.0
47 36 4e V +1 &3 -450 21.0 29.0|46 37 5¢ S= 46 600 17.0 33.0|40 43 5¢ O= &K -600 20.0 30.0
49 34 44 O+1 v2 -450 21.0 29.0| 3 29 3¢ N+2 a7 150 11.0 39.0|42 41 3NV= a5 -600 20.0 30.0
15 17 54DV= 94 -650 6.0 44.0|10 22 4¢ S+1 &5 150 11.0 39.0|45 38 3NV= 43 -600 20.0 30.0
27 5 54DV= 94 -650 6.0 44025 7 66DS-1 &7 -200 50 450| 8 24 54V +1 a3 -620 7.0 43.0
32 51 54DV= v4 -650 6.0 440|330 2 66DS-1 2 -200 50 45.0|52 16 5&V +1 a3 -620 7.0 43.0
35 48 54DV= 94 -650 6.0 44.0(45 38 4vyDN-1 A -200 50 45.0|10 22 3NV +3 v3 -690 40 46.0
52 16 54DV= 94 -650 6.0 44049 34 6¢DS-1 v2 -200 50 450 3 29 44DS-4 vA -800 2.0 48.0
40 43 44DV +1 ¢3 -690 0.0 50.0{39 44 3NS-5 v6 -500 0.0 50.0|15 17 64 0O= SA -1370 0.0 50.0
49 & KKn 50 «D 51 4 E98
Nord vKD82 Ost vE1094 Syd v 987
Ingen ¢+ E52 NS + K1063 ov + D74

&E753 #KKn98 D432
494 « E862 4 Knl02 4865 4DKnl0 &7654
vKnl065 v7 vKn863 ¥KD v1043 v K5
+ 87 + KKn943 + DKn ¢ 9542 + EKn + K108
&#KDKn62 #1084 &#D1075 #6432 &#EKN987 #K1065
«D10753 « EK9743 & K32
v E943 v752 v EDKn62
+ D106 ¢ E87 4 96532
&9 &E »-

Par Kontr Ut Res Poéng Par Kontr Ut Res Poang Par Kontr Ut Res Poang
28 6 4¢vDS+1 &K 690 50.0 0.0({20 14 3NN+4 vK 720 468 32|33 1 3vyDS= +v3 530 50.0 0.0
11 23 4v S+1 &K 450 46.0 4.0|41 44 3NN+4 *4 720 46.8 3.2|40 45 34DV-1 v3 200 480 2.0
31 3 4v S+1 SA 450 46.0 4.0|46 39 3NN +4 a5 720 46.8 32| 4 30 3v S= «Q 140 38.0 12.0
43 42 4v N +1 &8 450 46.0 4.0|50 35 3NN+4 *4 720 468 32| 7 27 2v S+1 «Q 140 38.0 12.0
16 18 3NN +1 +3 430 420 80| 4 30 3NN+3 vK 690 333 16.7(26 8 3v S= «Q 140 38.0 12.0

7 27 4y N= &4 420 340 16.0( 7 27 3NN+3 +5 690 333 16.7(28 6 3v S= «Q 140 38.0 12.0

9 25 4v N= &8 420 340 16.0f 9 25 3NN+3 vK 690 333 16.7(31 3 2v S+1 «Q 140 38.0 12.0
13 21 4v S= +8 420 340 16.0(13 21 3NN+3 *4 690 33.3 16.7(34 51 2v N+1 «Q 140 38.0 12.0
36 49 4v S= &K 420 340 16.0({26 8 3NN+3 vK 690 33.3 16.7(43 42 3v S= «Q 140 38.0 12.0
41 44 4y N= &4 420 340 16.0({31 3 3NN+3 vK 690 33.3 16.7(47 38 3v S= «Q 140 38.0 12.0
47 38 4v N= &4 420 340 16.0(33 1 3NN+3 vK 690 33.3 16.7(52 17 3v S= «Q 140 38.0 12.0
50 35 4v N= +3 420 340 16.0(34 51 3NN+3 *4 690 333 16.7(13 21 3+ V-1 v7 100 26.0 24.0
22 12 2¢DO-2 &9 300 26.0 24.0(52 17 3NN+3 +5 690 333 16.7(41 44 24 O-1 +3 100 26.0 24.0

4 30 4v S-1 &K -50 15.0 35.0(10 24 44 S+2 +Q 680 18.8 31.2|50 35 3& V-1 v7 100 26.0 24.0
10 24 3NN-1 &4 -50 15.0 35.0(11 23 44 S+2 *Q 680 18.8 31.2| 9 25 3v S-1 e -50 16.0 34.0
19 15 4v N-1 &4 -50 15.0 35.0(16 18 44 S+2 +Q 680 18.8 31.2|11 23 3v S-1 &A -50 16.0 34.0
32 2 4v N-1 &4 -50 15.0 35.0(19 15 44 S+2 &7 680 18.8 31.2|16 18 4v S-1 «Q -50 16.0 34.0
33 1 4¢vN-1 &4 -50 15.0 35.0(43 42 44 S+2 *Q 680 18.8 31.2|22 12 4v S-1 «Q -50 16.0 34.0
34 51 4v N-1 &K -50 15.0 35.0(29 5 3NN+2 *4 660 94 406|132 2 4vS-1 «Q -50 16.0 34.0
40 45 4v N-1 &2 -50 15.0 35.0(32 2 3NN+2 *4 660 94 40.6|36 49 44 S-1 v2 -50 16.0 34.0
46 39 4v N-1 &3 -50 15.0 35.0(36 49 3NN+2 vA 660 9.4 40.6|46 39 3v S-1 v3 -50 16.0 34.0
48 37 4v S-1 &K -50 15.0 35.0(47 38 3NN+2 vQ 660 94 40.6|10 24 24 O= +5 -110 7.0 43.0
52 17 4v S-1 &K -50 15.0 35.0(28 6 3NN+1 *4 630 21 479|19 15 3a V= v7 -110 7.0 43.0
20 14 3NN-2 v7 -100 2.0 48.0(40 45 3NN+1 +3 630 21 4791|120 14 INV+1 &2 -120 4.0 46.0
26 8 4v N-2 &4 -100 2.0 48.0|48 37 3NN+1 *4 630 21 479|129 5 24 O+1 YA -140 1.0 49.0
29 5 4vy N-2 &4 -100 2.0 48.0|22 12 A-/A- 20.0 20.0(48 37 34 O= vA -140 1.0 49.0
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52 « Kn765 53 « EKn10983 54 sE

Vast v 754 Nord vK3 Ost v D93
Alla ¢ 7653 NS + Kn9 ov ¢+ ED3
109 #K93 #Kn109654
4 KD109 4842 & 742 46 4K86 41097532
v 1032 v ED86 vEKn1096 v D84 v876 vEK4
¢+ E84 + Kn1092 4 653 + KD42 ¢ K984 ¢ Kn2
&KD7 #63 37 &#EDKN102 &ED8 &72
«E3 « KD5 « DKn4
v KKn9 v 752 v Kn1052
+ KD + E1087 + 10765
#EKN8542 #654 K3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
14 22 3NDO-4 &4 1100 490 10|17 19 34 N= a2 140 480 2.0|10 26 3« N= *J 110 470 3.0
29 7 3NDV-4 #T 1100 490 10|29 7 34 N= +K 140 480 20|33 3 3&N= vA 110 470 3.0
34 2 INDO-3 &T 800 46.0 4.0(48 39 34 N= *+K 140 480 2.0(35 1 3&N= vA 110 47.0 3.0
11 25 3NO-3 &A 300 440 6.0[32 4 24 N= +K 110 43.0 7.0|48 39 3 N= vA 110 470 3.0
32 4 INV-2 &T 200 420 8.0|37 50 24 N= v4 110 430 7.0(17 19 34 O-1 vlJ 100 37.0 13.0
30 6 INS+1 & K 120 39.0 11.0(33 3 4v V-2 s A 100 40.0 10.0|23 13 34 O-1 &K 100 37.0 13.0
49 38 INS+1 &K 120 39.0 11.0(27 9 4v V-1 *J 50 370 13.0(30 6 34 0-1 &Q 100 37.0 13.0
44 43 34 V-1 &T 100 35.0 15.0(41 46 4v V-1 s A 50 37.0 13.0(32 4 340-1 &K 100 37.0 13.0
48 39 24 V-1 &T 100 35.0 150| 5 31 34 N-1 v4 -100 27.0 230(34 2 340-1 &K 100 37.0 13.0
8 28 2 N= &6 90 31.0 19.0({10 26 34 N-1 v4 -100 27.0 23.0|49 38 34 O-1 vJ 100 37.0 13.0
23 13 24 S= *J 90 31.0 19.0(11 25 34 N-1 v8 -100 27.0 23.0| 5 31 3&N-1 vA -50 27.0 23.0
51 36 INV= 46 90 28.0 22.0|14 22 34 N-1 v3 -100 27.0 23.0| 8 28 3« N-1 aT -50 27.0 23.0
10 26 INS-1 &K -100 24.0 26.0|21 15 34 N-1 v4 -100 27.0 23.0|14 22 3« N-1 vA -50 27.0 23.0
41 46 2% S-1 & K -100 24.0 26.0|35 1 34 N-1 v4 -100 27.0 23.0|41 46 3& N-1 vA -50 27.0 23.0
52 18 2# N-1 *J -100 240 26.0|51 36 34 N-1 *+K -100 27.0 23.0|20 16 44DN-1 ¥vA -100 19.0 31.0
12 24 2v O= &A -110 20.0 30.0(52 18 34 N-1 v5 -100 27.0 23.0|44 43 3& N-2 vK -100 19.0 31.0
17 19 1INV +1 *2 -120 17.0 33034 2 30= &K -110 18.0 32.0|51 36 44 N-2 T -100 19.0 31.0
42 45 1INV +1 a5 -120 17.0 33.0|44 43 3v V= s A -140 16.0 34.0(52 18 44 N-2 vA -100 19.0 31.0
20 16 2o V +1 &T -140 14.0 36.0| 8 28 3NN-2 &J -200 8.0 42029 7 24 O= &3 -110 12.0 38.0
37 50 INDV= &T -180 12.0 38.0|12 24 34DN-1 46 -200 8.0 42.0|37 50 24 O= &K -110 12.0 38.0
21 15 34D S-1 &K -200 8.0 42.0(23 13 44 N-2 v4 -200 8.0 42.0|47 40 24 O= &K -110 12.0 38.0
27 9 3#DS-1 &K -200 80 42030 6 44 N-2 v4 -200 8.0 42011 25 34 O= &K -140 5.0 45.0
35 1 3&DN-1 ¢7 -200 8.0 42.0|42 45 44 N-2 v4 -200 8.0 42.0|12 24 24 O+1 &K -140 5.0 45.0
5 31 2¢ N-3 *2 -300 40 46.0(47 40 44 N-2 v3 -200 8.0 42027 9 340= &K -140 5.0 45.0
47 40 3#DN-2 ¢J -500 2.0 48.0[49 38 44 N-2 v2 -200 8.0 42.0|42 45 34 O= &K -140 5.0 45.0
33 3 2¢vyDS-3 ¢¥5 -800 0.0 50.0{20 16 44DN-2 v4 -500 0.0 50.0|21 15 3v S-3 46 -150 0.0 50.0
55 4 K76 56 @- 57 #1087
Syd v K98 Vast v K943 Nord vKn74
Alla 4987 Ingen + ED9652 ov + KDKn6
D643 &E87 &E53
« E843 4 D102 4 Knl03 & KD654 & Kn2 & K63
vEDKn53 v 1072 vKnl05 v86 v 865 v EK109
¢ E + DKn1062 ¢ Kn73 ¢ K1084 49873 ¢E5
#1098 &Kn2 &#Kn932 &K5 #10642 #KDKn8
& Kn95 & E9872 « ED954
v 64 vED72 v D32
¢ K543 ¢- ¢ 1042
&EK75 &D1064 »97
Par Kontr Ut Res Poéng Par Kontr Ut Res Poang Par Kontr Ut Res Poang
28 10 3v V-2 46 200 50.0 0.0(21 17 34D O-3 &4 500 500 00(35 3 24DS+1 ¥5 570 50.0 0.0
2 36 3v V-1 &4 100 40.0 10.0|52 19 4y N+2 &K 480 480 2.0|50 39 3NDO-2 «J 500 48.0 2.0
6 32 2v V-1 v8 100 40.0 10.0| 1 37 4vy N+1 &K 450 410 9.0(31 7 24DS= ¥5 470 46.0 4.0
12 26 3v V-1 &4 100 40.0 100| 9 29 4v N+1 +8 450 41.0 9.0|18 20 4v O-3 v3 300 430 7.0
24 14 3v V-1 *7 100 40.0 100|33 5 4y N+1 &K 450 410 9.0|22 16 2NO-3 *2 300 430 7.0
31 7 4v V-1 46 100 40.0 10.0(34 4 4vy N+1 &K 450 410 9.0| 1 37 24 N= &K 110 37.0 13.0
34 4 3v0O-1 *7 100 40.0 10035 3 4y N+1 &K 450 410 90| 6 32 24 S= &4 110 37.0 13.0
45 44 1INV -1 a5 100 40.0 10.0|42 47 4y N+1 &K 450 410 9.0|24 14 24 S= v5 110 37.0 13.0
48 41 3v V-1 +9 100 40.0 10.0(18 20 3NN +1 v3 430 340 16.0(45 44 24 S= &3 110 37.0 13.0
50 39 3v V-1 *7 100 40.0 10.0| 2 36 4y N= & K 420 230 270 9 29 2NO-1 a5 100 25.0 25.0
15 23 INN= +Q 90 30.0 20.0(11 27 4v S= e 420 230 270(12 26 2NO-1 LY 100 25.0 25.0
18 20 34 S-1 vQ -100 27.0 23.0|12 26 4y N= v8 420 23.0 27.0(15 23 2NO-1 *2 100 25.0 25.0
33 5 3&#N-1 +Q -100 27.0 23.0|15 23 4v N= v8 420 230 270(33 5 2NO-1 a5 100 25.0 25.0
1 37 2v V= *7 -110 21.0 29.0|24 14 44 N= *2 420 23.0 27.0(42 47 2NO-1 a5 100 25.0 25.0
22 16 2v V= *7 -110 210 29.0(31 7 4vy N= &K 420 23.0 27.0(43 46 3v O-1 ¢4 100 25.0 25.0
42 47 2v V= +9 -110 21.0 29.0|38 51 4v N= &K 420 23.0 27.0(48 41 2NO-1 LY 100 25.0 25.0
43 46 2v V= *2 -110 21.0 29.0|43 46 4y N= &K 420 23.0 27.0(49 40 2NO-1 LY 100 25.0 25.0
38 51 2v V+1 *7 -140 15.0 35.0(45 44 4vy N= &K 420 23.0 27.0(28 10 34 S-1 v5 -50 16.0 34.0
49 40 2v V+1 &4 -140 150 35.0(48 41 4y N= v5 420 23.0 27.0(34 4 INO= a5 -90 12.0 38.0
13 25 2y V+2 v8 -170  11.0 39.0({50 39 3NS= e 400 12.0 38.0(38 51 28 V= ¢+ K -90 12.0 38.0
21 17 2v V +2 *7 -170  11.0 39.0(22 16 14DO-1 %6 100 9.0 41.0(52 19 INO= a5 -90 12.0 38.0
11 27 INDS-1 vJ -200 6.0 44028 10 14D O-1 6 100 9.0 41.0|11 27 34DS-1 ¥5 -100 8.0 42.0
30 8 3«DN-1 vQ -200 6.0 440| 6 32 6y N-1 &K -50 40 46.0| 2 36 24V +1 ¢+ K -110 4.0 46.0
35 3 2v V+3 *7 -200 6.0 44.0(30 8 3NN-1 v8 -50 4.0 46.0|13 25 3#V= + K -110 4.0 46.0
9 29 4v V= +9 -620 2.0 48.0|49 40 6v S-1 &3 -50 40 46.0(21 17 34 0= *2 -110 4.0 46.0
52 19 1¢DS-3 &T -800 0.0 50.0|13 25 6v N-2 v6 -100 0.0 50.0[{30 8 2NO= LY -120 0.0 50.0
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